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1. Overall Description:

RAN2 discussed 2 issues about the UE capability “ intraBandENDC-Support”. The first issue is about the meaning of “both”. The second issue is about how to indicate the contiguous LTE band Entry (or Entries) when the BC involves both contiguous and non-contiguous intra-band EN-DC.

For the first issue, RAN2 notice that in RAN4 spec (Note 5 in Table 5.3B.1.3-2 38101-3), “Both” means there are both contiguous and non-contiguous intra-band ENDC in one BC. However in RAN2 spec, “Both” means both contiguous BC and non-contiguous BC with the same band Entries are supported. 

Take DC_48A-(n)48AA3 /DC_48A-48A_n48A3as example, the UE would report 3 band entries: 
· BandEntrylist[0] =48A;  
· BandEntrylist[1] =48A;  
· BandEntrylist[2] =n48A  

According to the RAN2’s understanding, the UE can report the supported BCs with different intraBandENDC-Support values as below:
					Table 1: intraBandENDC-Support

	Index
	Supported BC
	intraBandENDC-Support 

	1
	Only support  DC_48A-(n)48AA3
	intraBandENDC-Support = Contiguous

	2
	Only support DC_48A-48A_n48A3
	intraBandENDC-Support = non-Contiguous

	3
	Support both
DC_48A-(n)48AA3 and  DC_48A-48A_n48A3
	intraBandENDC-Support = Both



RAN2 respectfully asks RAN4 to take the above RAN2’s understanding into consideration and provide feedback if needed.

For the second issue, Ran2 notice that for the BC involves both contiguous and non-contiguous intra-band EN-DC, the network can’t know which LTE band Entry can be contiguous with NR band entry with the current signaling.

Take DC_48A-(n)48AA3, as an example, according to RAN2 capability signaling structure, there would be 3 band Entries for this BC
· BandEntrylist[0] =48A;    BandEntrylist[1] =48A;  BandEntrylist[2] =n48A 
 
Each band entry would refer to a featureset e.g.
· BandEntrylist[0] =48A   Eutra Featureset 1with MIMO layer = 2, bandwidth = 100M
· BandEntrylist[1] =48A   Eutra Featureset 2 with MIMO layer = 4, bandwidth = 30M
· BandEntrylist[2] =n48A  NR featureSet  3 with MIMO layer = 2

Then based on which LTE band entry can be contiguous with NR band entry, there can be 3 cases:
· Case 1: The UE only support contiguous EN-DC with BandEntrylist[0]; 
· Case 2: The UE only support contiguous EN-DC with BandEntrylist[1]; 
· Case 3: The UE support both cases: contiguous EN-DC with BandEntrylist[0] and contiguous EN-DC with BandEntrylist[1]

However, from the current signaling, the network doesn’t know case is supported by the UE. From RAN2 aspect, the UE shall indicate which LTE band Entry (or Entries) can be contiguous with NR band entry.
RAN2 respectfully asks RAN4 to confirm above understanding.


2. Actions:

To RAN4 group:
[bookmark: _GoBack]ACTION: RAN2 respectfully asks RAN4 to take the above RAN2’s understanding into consideration and provide feedback if needed.
.
3. Date of Next TSG-RAN2 Meetings:
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